Puissances de Dix (B)

Trouvez chaque produit ou quotient.

93 x 10° = 100 x 103 =
12 x 103 = 96 X 10° =
9x 107 1= 22 +-1071 =
22 x 103 = 67 ~ 101 =
86 ~ 10° = 78 x 10° =
75+ 103 = 2 +10'=
50 x 101 = 29 x 103 =
70 =102 = 27 % 102 =
12 x 103 = 85 +10"1'=
66 X 10° = 53 x 10° =
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Puissances de Dix (B) Solutions

Trouvez chaque produit ou quotient.

93 x 10°=93 100 x 10° =100 000
12 x10°=12000 96 X 10° =96
9%x107'=0,9 22 +1071=220

22 x 10%=22000 67 ~10'=6,7

86 + 10° = 86 78 X 10° =78

75+ 10°=0,075 2+10'=0,2

50 x 10' =500 29 x 10° =29 000
70 + 1072 =7 000 27 X 10>=2700

12 x 10°=12 000 85+ 1071 =850

66 X 10° =66 53x10°=53
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